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ECONOMICS

( Honours Core )

Paper : ECO-HC-4036

( Introductory Econometrics )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
werq AEPTRY Oed fa
a) Mention one importance of normal
distribution.
PTAIT FB79 GBI e gt 79|
(b) When is F-test used?
P-*R1 a1 qrazm <o 21 ?
(c) Give one property of t-test:
t-*{ArrT 1 Gt foyey |
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(2)

(d) Mention one cause of heteroscedasticity.

RO 9B 2t Tt ey ==y |

(¢) When does specification error arise?

e’ Rewa &l @fen teg =0

() What is linear equation?

AR e 9

(9) Write the full form of BLUE.
BLUER =9 S forey |

(h) Define coefficient of determination.
R RO i forgy |

(i)

Problem may arise?
T o 1 Rt s o 2fwoR
Ny COCTR e mﬁﬁwb@@ﬁ‘{’ﬁ?
() What is critical region?
0% v f 9

(3)

(b) What does an error term represent?

&b i 9oz & w2

(c) Mention two sources of autocorrelation.

FATRITTR 701 T Teard 4 |
(d) When does heteroscedasticity arise?

Refvem cofem Teg 202

(e) Distinguish between one-tailed test and
two-tailed test.

GI-pRRRE o -opRRE A Twe
M1 fera |

following questions :
3. Answer any four of the fo pre

©od 2PPTRE R e wifG T i

(a) What is normal distribution? M_enu'on \
the properties of normal distribution. 1+4=5

SR T4 R 7 3fierae] T CARBPTR for |

() What is hypothesis testing? What are

: thesis testing?
Answer the following Questiong ox5=10 the various steps of hypothe it
N T *Rree el 7 gow AR [few sER
(@) Mention two Propertieg of estimators iEsIR
‘131 Al { Turn Over )
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(4)

(c) Explain type-I and type-II error. S

o4 oFET S0 e BoN aeRe @fiog
fran o '

(d) Explain the concept of regression.
Discuss the importance of regression in

economics. 2+3=5
ST 4RECT 1T 317 | 2o STopEes
GFQ ITCE SO 47 |

(e) Distinguish between multicollinearity
and autocorrelation.

WRFT UE O ws A1

() Explain the method of measuring the
goodness of fit in a multiple regression

model.
W OTREE WY e @eper fefg 999
A\SCoT M 1 |
4. Answer the following questions - 10x4=40
O SpRY Teq i

(@) Estimate the regression lines from the
following data :
FafRe w29 /1 X3 @vmw yq s @@
PTG 47 ;

XENE 8997 69 59 7o, 68 O!
Y': 125 137 156 112 107 136 123 0P
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(b)

(c)

24A/704

(5)

Or / 9941

Explain the consequences of auto-
correlation on OLS estimation. How can
autocorrelation be corrected? 4+6=10

OLS W@ee TATTET FAFedd R
%91 | €3 TP @S St AR 2 '

What is test of significance? Mention the
various steps associated with tests of
Sig‘niﬁcance. 3+7= 10

Mefe] R 52 WOl HAFR A GO
TP S 41 |

Or/ 9«1

Explain the consequences of multi-
collinearity. 10
TR ASRPTR HCeAoA F1 |
State and prove Gauss-Markov theorem
for B; in linear regression model
Y, =Bo +B, X, +u,, where Bo and B, are
parameters and u, is stochastic term. 10
Y; =Bg +B X, +u, EERT GIF SRS
TS ©gch & AF ST 1 TS B
I B, AT =W SF u, &6 WA |
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(6) (7))

Or / =24l

Or / 9331 ,
| Explain how specification error may

Distinguish betwe i
alternative hypot:z;l:.u I;Jyl?:;h eis:s :;llf arise if irrelevant variable is includ.ed it?ua
square distribution | o 40
sample of 5 studer,ttsufi:i;3 aAc1;§: ?:;2 | consequences of SpecificaticRiCn
féfegé:rggﬁkzzcoged by them are 80, ' gl ﬁﬁqﬂ ?ﬁ;’f{i
observations conﬁ;‘m 0: g e el e 5

_ at the class
average is 70? |[Tabulated value of
t =2-78 corresponding to (n-1)d.1].

2+3+5=10 e

& S o R SR e ot fors |
chi-3of {99 (Pl I92R +1 29 2 @B xR
5 & T TH RIEHECE el e
(SRS 79 I 80, 40, 50, 90 WF 80
|, R R @ 4RI % 70 oy
Nfde F@E? [t=2-787 SfeRgE Wm
(n—1) d.f 3 & w7l |

linear regression model. Expl
. or. 4+6=10

90

1

(d) Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy
variable in seasonal analysis? Explain

5+5=10

&Ibeq I RIS (1Y 73051 BYFRAE vore
Remw crge afewl v R zm <1
20T
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